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General Instructions (ATATRI fAET ):1. Write your Name, Roll Code, Roll No., Registration No.,
Date of Exam., Sitting, Faculty and Name of the Subject on the OMR answer sheet in the space
provided. Put your full signature on the OMR answer sheet in the space provided.
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2. There are 40 Multiple choice questions in all.
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3. All questions are compulsory. Each question carries 1 mark.
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4.Four Options are given for each question. Choose the most suitable option and indicate it by
blackening the appropriate circle [ ] in the OMR answer sheet given separately. Use only Blue/Black
ball-point Pen. The use of pencil is not allowed.
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5. Before leaving the examination hall hand over the OMR answer sheet to the invigilator. You are

allowed to take the question paper with you.
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Adhere to the instructions above very carefully otherwise your OMR answer sheet will be
invalid and will not be evaluated.
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1. The maximum number of electronsin a
subshell for which 1 =3 is :
b.8 d. 14

a. 4 c. 10

2. Molecular mass of heavy water is :

a. 10 b. 18 c.20 d. 22
3. Which of the following concentration unit

depends on temperature?

b. Molality
d. All of these

a. Molarity
c. Mole fraction

4. The value of quantum numbers for 2p orbital
are :
,1=2 b.n-1,1=0
=1 d.n=2,1=2

5. Which one of the following will have the
largest number of atoms?

b.1gNa
d.1gCl,

a.lgCa
c.lgli

6. Feis:

a. d-block element
c. s-block element

b. p-block element
d. None of these

7. What will be the amount of water produced by
the combustion of 16 g of methane ?

a.36g
c.16g

b.32g
d.18¢g

8. Which of the following electronic configuration
is not possible ?
a.2p*  b.2d®> c.4s'  d.s5f°
9. Number of electrons in fourth shell of Cu atom
is :
c.3 d.1

a.2 b.5

=

. | = 3 O 9T SUBIR H SaideH B SHiday
H@T@Tﬁ

a.4 b. 8 .10  d.14
2. YR 5 B 3D GoodA g -
a. 10 b. 18 c. 20 d.22
3. fufeiad ® o9 W Jigd 51 dumHE R
Rk e 22
a. HeRdr b. HIGTerdT
c. Hid Uy d. SRad gt

4, 2p$W$WWG@T$W%:

a.n=1,[=2 b.n-1,1=0
c.n=2,I= d.n=2, =2
5. FafaRea & 9 forg o tRuTueh ot Te ged
3{fdem gt

a.1lgCa b.1g Na
c.lgli d.1gCl,
6. Fe%:
a. d-sib dd b. p-sdid dd
c. s-SIP dd d. 3TH J PIs I8!
7. 16 T Y9 & <8 ¥ 309 5d &I A& T
gt 2
a.36¢g b.32g
c.l6g d.18g
8. FofaRad & & A1 SaaeiM® o= ¥ya
TRIg?
a.2p* b.2d> c.4s d. 5f°
9. CuURHIY] & 1Y HI H ST DI GBI § -
a.2 b.5 c.3 d. 1




10. Which of the following species will have the
largest size ?

b. Mg**
d. Al

a. Mg
c. Al

11. The element with atomic number 35 belongs
to which block of the periodic table ?

a. s-block
c. d-block.

b. p- block
d. f-block

12. IUPAC symbol of element with atomic number
129is:

a. Ubn b. Ube
c. Uuo d. Ubs
13. Halogens belongs to :
a.Group 14 b. Group 15
c. Group 16 d. Group 17

14. Charle’s Law of gases gives relation between:

a. Pressure and volume

b. Volume and temperature

c. Pressure and temperature

d. Volume and number of moles

15. Which is the most abundant element in the

universe ?
a. Oxygen b. Silicon
c. Iron d. Hydrogen

16. Syngas is a mixture of :-

a.H,0+ 0,
c.H,0+ CO

b.H,+ CO
d. H,+ CO,

17. How many hydrogen-bonded water molecules
are present in CuSO,.5H,0 ?

a. 1l b.5

c.2 d. 4

18. Which of the following carbocation is most
stable :

a. (CHs)sCCH,"
b. CHsCH,CH,"

b. (CHs)5C*
d. CH3CH'*CH,CH;

10. ﬁgﬂﬁ@aﬁﬁ%&w&wma@

a. Mg
c. Al

b. Mng
d. Al

11. TRAT]IBAT 35 I dcd 3HTdd RO &
for e sciicp A Taifdra 8 2
a. sl b. p-ildh
c. d-dldb d. f- sl
12. URHIY] shHidh 129 dTcl dcd T IUPAC Ucildh

g

a. Ubn
c. Uuo

13. gaIo &1 JeY g T A g ?

a. 9 14 b. TYE 15
c. 998 16 d. 998 17
14. gﬁmﬁ;ﬁmﬁmmaﬁaﬁaﬁm
?
a. 19 3R 3T
b. 3T 3R ATIHH
c. TETd 3R arIHE
d. a3 Hid Bt T=T

b. Ube
d. Ubs

15. SES ¥ TaY YR AE H S A1 dd /7

a. St b. RiferapA
c. 3MRA d. BTG

16. R forgeeT fgor g 2

a. Hzo + Oz
c. H,0+CO

17. CuS0,.5H,0 ¥ fova- gregIoH-3Mafid S
¥ 3 §?

b.H,+ CO
d. H,+CO,

a. 1 b.5
c.2 d. 4
18. fFufafad & 3 foog Sy &1 willa
a9 fYH g ?

a. (CH3)3CCH2+
b. CHsCH,CH,"

b. (CH3)5C*
d. CH;CH*CH,CH;




19. The best and latest technique for isolation, 19. WW% PREERUUR QI@W{UTGﬁT
purification and separation of organic yq o gafag aﬁqqaﬂqanaw-ﬂm%
compound is-

Crystallisati b. Distillati * o-
a. rys.ta |§at|on . Distillation ST 4. e
c. Sublimation d. Chromatography
20. CaCOs; is known as : 20.CaC0, % :
a. Lime water b. Quick lime a'ﬁ IH IVI b. 18 5?_
c. Milk of lime d. Limestone c TP TR d. digH

21. Which of the alkali metal give hydrated salts ? | 21. B Ul &R gig v eRIoTd Tau el © 2
a. Li b. Na a. Li b. Na
c. K d. Cs c. K d. Cs

22. In the organic compound 22. FIEHD DS CH,=CH-CH,-CH,-CH=CH, ﬁ,

CH,=CH-CH,-CH,-CH=CH, the pair of hybridised C,-C, &Y & AT & vgad YoHd werd|
orbitals involved in the formation of C,- C3 Wg"ﬂ:[% .
bond is :
a.sp—sp’ b. sp —sp’ a.sp—sp’ b. sp—sp®
2_ 3 3_ 3 2 3 3 3
C.sp”—sp d.sp”—sp c.sp’—sp d.sp’—sp

23. The graph between volume and pressure at
constant temperature is called :

b. Isobar
d. None of these

a. Isochore
c. Isotherm

24. The order of decreasing ionisation enthalpy in
alkali metals is :

b. Rb>K>Li>Na
d. K>Li>Na>Rb

a. Na>Li>K>Rb
c. Li>Na>K>Rb

25.The shape of NH; molecule is :
a. tetrahedral

c. octahedral
26. The bond order of O, is :

b. angular
d. pyramidal

b.2
d. 4

w -

27. A system in which there is no exchange of
energy or matter between the system and

surrounding is called :

b. adiabatic system
d. isolated system

a. open system
c. closed system

23, Fd TUHE WR 3aaH SR caId b dI b
I &l BT STl &

a. JHIIAT b. GHGIS
. GHAM s d. STH AP e

24. &R YT & M T & g BT HH &
a. Na>Li>K>Rb b. Rb>K>Li>Na
c. Li>Na>K>Rb d. K>Li>Na>Rb

25. NH; 79T ¥ 3Tid & :
a. TITRADIT b. FHroftr
c. ATHFAGT d. oot
26. O, #l ATEH- F(E T :
a.l b.2
c.3 d4

27. W1 R fogH e iR uRkaw &
S ol a1 g BT Bl ATeH-UaH T8l
giaT g, S BTl @ :

a A e b. I FeME
c. §¢ o d. foafa e




28. Which of the following is correct mathematical
equation:
a.AU=AQ +w
c. AU = Aw + AQ

b. Aw = AU + AQ
d. None of these.

29. In the given species which one is Lewis base ?

a. Ca(OH),
c. NaOH

b. BCl3
d. NH3

30. What will be conjugate acid for NH*~ ?

a. NH; b. N*~
c. NH, d. NaOH

31. The concentration of hydrogen ion in a sample
of soft drink is 107> M. What is its pH ?

a.2 b.3
c.4 d.5
32. What is oxidation number of S in H,SO, ?

b.6
d.5

a.2
c.4

33. Which of the following species do not show
disproportionation reaction ?

a.Cclo~
c. ClO3

b. ClO;
d. Cloy

34. The nature of CO, gas is :

b. basic
d. amphoteric

a. acidic
c. neutral

35. Thermodynamically most stable form of

carbon is :
a. diamond b. graphite
c. fullerenes d. coal

36. An aqueous solution of borax is :

b. basic
d. amphoteric

a. acidic
c. neutral

28. FoforiRad & @19 Tgt Mo e & 2

a.AU=AQ +w b. Aw = AU + AQ
c. AU = Aw + AQ d?‘lﬁ@[ﬁ'ﬁcﬁ
29. fou U Wiefie A o =9 &RE § 2
a. Ca(OH), b. BCl3
c. NaOH d. NH;
30. NH?" & forg Igvdt aret m g1 2
a. NH; b. N>~
c. NH, d. NaOH

31. XMqd U & Th 99 U BRI ST &l
Tigdr 10°M & | SHHT pH F1 &7

a.2 b.3
c.4 d.5
32, H,S0, T S i HTh T TTHT T B2
a.2 b.6
c. 4 d.5

33. FfaRed & 9 & o Tiei s
i 781 e § 2

a. Clo b. ClO;

c. Cloz d. clo;
34. CO, B UHA Q-

a. AT b. &R

c. 3SA d. Iygywf

35. WWQWWWW
UG :

a. BRI
c. BeRiA

36. IRGY P oAy AT g :

a. 3&g b. &R
c. 3aH d. IHTeHf

b. IhTSC
d. pIIa




37. The product of ozonolysis of CH;CH=CHCH; will
be:

a. CH;CH;

c. CH;CHO

b. HCHO
d. CH;CH,CHO

38. What will be the product of given reaction
CHsCH=CH, + HCl > ?

a. CH3CH2CH2CI
b. CH3CH;

b. CH;CH(CI)CH;
d. CH3CHCH,HCI

39. What is IUPAC name of CH3CH,CH(CI)CH; ?

b. 3- Chlorobutane
d. 2 - Chlorobutane

a. 1- Chlorobutane
c. 2 - Bromobutane

40. The chemical formula of ozone is :
a.o b. 0,
c. 03 d. (O)

37. CH;CH=CHCH; & 3fSHI3Uge &l IdIG
BRI :

a. CH;CH;

¢. CH;CHO

38. &1 TS 3ififehar &1 IUTe o1 BT
CHsCH=CH, + HCl > ?
a. CHsCH,CH.Cl b, CH5CH(CICH;
b. CH5CH; d. CHsCHCH,HCI

b. HCHO
d. CH;CH,CHO

39. CH;CH,CH(CCH; T IUPAC ATH SRIT | ?

a. 1-FRIGSA b, 3 - TR A

c. 2-SHl g d. 2 - FART e
40. 315N T IS T &

a.o b. 02

C. 03 dO4




